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1.(15%90) ©H X = {X,,, n >0} N—5HKE, HREZWAN S={0, 1, 2,3, ---}, —
BHBHEREN: poo =0, poi=pi >0, pii1=1,i>15

(1) 73 BT 12 T EQAE A5 PR 4 1) JE 38

(2)LA N AW R IEH: X i IRENEIRE . & IEFS HIEH; S5 IERY ).

(B)LANAWHE R IEM: X FraRESNIER RS REFRMN Y, cgnpn < 0o « £ 1EH
g HAIEI s A IERZ

2.(707) X ={X,, n>0} A—SHIKEE, HRESMN S={1, 2, 3,4, 5,6, 7}, —
W EAERE P .

0 £ 200 00
1041 00 00
01 00 00O
P=]o £ L 0o 1 00
0004+ 1 01
00000 2 2
00000 3 1
IEJFEElE:
(1) m MR, b RBE A 0 i 52 BEXTZ S IR R 735
(2) TR HIVERT, b, FHIR, FRHEIR, K5,
(3) VARSI T EIR BN IR] s, i€ S 5
(4) 3K lim,, 0 pij(n), Vi, j € S;
(5) K fos(n), for(n), faa(n), fas(n)» n=0,1,2,3,--- ;
6) K>S P(X,=i Ty>n|Xo=k), RE Ek=1,i=1,2,4;
(7) R Xo =5 WIsEMET, A2 1, BRSNS 6 K-FLIf(E);
(8) 3K Xo =5 HIZKMT, A& 1, HIRENE 6, &xd 7 KIFREL.
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